Sundsvallsbridgen
DM-par 2007-02-25

Partavling, 6 bord, 12 par. Antal brickor: 44. Medel: 220.0.

Plac Par Poang % Namn MID Klubb
1 5 254 57.73  Magnus Melander - Nichlas Eliazohn 15307 15142 BK Stopp
2 1 245 55.68  Leif Naslund - Leif Sundqgvist 3771 3752  Sundsvallsbridgen
3 12 239 54.32  Dan Bylund - Helena Stromberg 8223 12565  Sundsvallsbridgen
4 9 229 52.05 Kent Sjoberg - Sven-Ake Arvendahl 3260 5396  Sundsvallsbridgen
5 4 226 51.36  Kristian Karlsson - Kent Backstrém 23186 11196 Alnd BK - Upsala BS
6 2 220 50.00 Carina Sj6blom - Thomas Johnsson 3382 3718  BK Stopp
7 3 217 49.32  Per Jansson - Anna-Karin Larsson 12635 23189 Alnd BK
8 6 213 48.41  Bo Sundstrom - Andreas Westman 3723 23603 Bracke BK - Lindesbergs BS
8 7 213 48.41 Ted Olows - Lennart Bylund 8281 8234  Sundsvallsbridgen
10 8 204 46.36  Anna-Lisa Akerdahl - Lennart Sohlin 4746 13552  BK Stopp - Sundsvallsbridgen
11 11 198 45.00  Emil Tibblin - Staffan Hedman 3453 3734  Sundsvallsbridgen
12 10 182 41.36  Bengt Larsson - UIf Henriksson 3819 3814  Alnd BK
1 & Kn6 2 495 3 484 4 294
Nord v EK103 Ost v 763 Syd v 10876 Vast vD10942
Ingen + D64 NS ¢ 752 (6)) + Kn104 Alla + E76
#EKN73 #KD842 #K985 #ED2
« E43 4« D9872 4 DKn « E64 49 « EK632 «ED3 4KKn1075
v74 v DKn9865 vED9852 vKKn104 vKDKn53 vE92 vEKNn5 v8
¢EK72  ¢- + K986 ¢ EDKn4 ¢E9532 ¢ KD7 48532 ¢ KDKn10
#K1095 %64 &Kn #103 «D2 &E6 #KKn4 #1085
& K105 4 K108732 4« DKn1075 4 862
v2 v- v4 v K763
+ Kn109853 4103 + 86 ¢94
«D82 #E9765 #Kn10743 #9763
Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
9 4 4vDO-2 300 100 00| 7 6 6vDV-1 100 100 0.0|12 1 5¢ V+2 -640 100 00| 8 5 3NV= -600 10.0 0.0
7 6 3v0O-3 150 8.0 20| 310 5v0= -450 4.0 6.0| 310 6vV+1l -1460 7.0 3.0| 310 44 V= -620 4.0 6.0
11 2 3¢ S= 110 6.0 40(8 5 4vV+l -450 40 60| 9 4 6vyV+1 -1460 7.0 3.0| 7 6 44 O= -620 4.0 6.0
12 1 34 V-2 100 40 60| 9 4 4vV+1l -450 40 608 5 6NO+1 -1470 4.0 60| 9 4 4e V= -620 4.0 6.0
8 5 4¢DS-1 -100 2.0 8011 2 5vV= -450 4.0 60| 7 6 7¢ V= -2140 10 9.0|11 2 44 O= -620 4.0 6.0
310 24V+2 -170 0.0 100(12 1 4vV+1l -450 4.0 6.0|11 2 7¢ O= -2140 10 9.0(12 1 44 V= -620 4.0 6.0
5 s E 6 « DKn93 7 s E 8 « D1075
Nord v E9852 Ost vKn742 Syd v K1065 Vast vED753
NS + 872 (e)) .7 Alla + K643 Ingen + 106
#KD102 #E854 #K943 »104
4 K103 4 DKn87642 487 & K42 « DKN10952 & K764 4832 « EK964
vD63 v Kn107 v E96 v K8 v7 v E98 v K6 v2
¢ DKn53 494 ¢ 10832 ¢ EDKn94 ¢ EDKn ¢ 752 ¢EB843 ¢ K75
*E86 &7 #DKn97 #K62 #Kn65 &#E72 #EKNn73 #9852
495 & E1065 483 4 Kn
vK4 vD1053 v DKn432 v Kn10984
+ EK106 + K65 + 1098 + DKn92
#Kn9543 #103 D108 #KD6
Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
1 3 54 N+1 620 90 1.0(9 6 3vS= 140 100 0.0| 411 44 V-1 100 60 40| 1 3 44DO-3 500 10.0 0.0
12 2 54 N+1 620 90 10| 8 7 2vS= 110 80 20| 8 7 44 V-1 100 6.0 40| 411 44 O-2 100 7.0 3.0
10 5 44D O -3 500 60 40| 1 3 3NO-1 100 50 50| 9 6 44 V-1 100 6.0 40|12 2 44 O-2 100 7.0 3.0
8 7 44D O-2 300 40 6.0| 411 INO-1 100 50 50(10 5 3NO-1 100 60 40| 8 7 340= -140 2.0 8.0
9 6 340-2 100 20 8010 5 34S-1 -50 2.0 8.0|12 2 44 V-1 100 6.0 40| 9 6 340= -140 2.0 8.0
411 54 N-1 -100 0.0 10.0|12 2 44 O= -130 0.0 100| 1 3 34V= -140 0.0 10.0|10 5 34 O= -140 2.0 8.0
9 & E932 10 4954 11 « D5 12 #1083
Nord vD10 Ost vD1075 Syd vE98 Vast v 1087
oV ¢ Kn5 Alla + KKn106 Ingen + K10973 NS 4 1096
#ED1052 *72 #K103 #10974
4765 « KDKn84 462 4« DKn10 +E 41082 +KD 4« Kn95
vKn87 v54 v 9863 v EK42 vKD1052 vKn43 vKD v EKn932
+ K83 + 109 +4 ¢ D52 + E864 ¢ Kn52 ¢ EK842 ¢ Knb
#KKn84 #9763 #D98654 #E103 &E97 #DKn84 #8653 #KD2
210 » EK873 » KKn97643 « E7642
v EK9632 vKn v76 v 654
+ ED7642 + E9873 +D + D73
»- #KKn #652 #EKn
Par  Kontr Res  Poang Par  Kontr Res  Poéang Par  Kontr Res  Poéang Par  Kontr Res  Poéang
2 4 6vS= 980 9.0 10| 2 4 24 S+2 170 6.0 40|5 1 540-1 50 100 0.0|12 3 3¢ V+1 -130 10.0 0.0
5 1 6v N= 980 90 10| 5 1 24 N+2 170 6.0 40| 2 4 44 S-1 50 70 302 4 3NV+1l -430 40 6.0
9 8 4v S+2 480 40 6.0| 9 8 24 S+2 170 6.0 40(12 3 44 S-1 -50 7.0 3.0|5 1 3NO+1 -430 4.0 6.0
10 7 4v S+2 480 40 6.0|/10 7 24 S+2 170 6.0 40|10 7 44DS-1 -100 3.0 7.0/ 9 8 3NO+1 -430 4.0 6.0
12 3 4v S+2 480 40 6.0|11 6 24 S+2 170 6.0 40(11 6 44DS-1 -100 3.0 7.0|10 7 3NV+1 -430 4.0 6.0
11 6 3NN+1 430 0.0 10.0(12 3 2¢ S+2 130 0.0 100 9 8 4v V= -420 0.0 10.0|11 6 3NO+1 -430 4.0 6.0
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13 4« Knl10 14 443 15 » EK92 16 » K86
Nord v DKn1032 Ost v Kn1087654 Syd v 632 Vast v K753
Alla +92 Ingen + D84 NS 48643 ov + Kn9876
D974 »8 »64 »8
aD 4 K987632 & Kn862 a7 21085 #7643 « Kn104 « ED53
v- vE5 v- vE32 vED7 vKn94 vEDKn10642 ¢9
¢+ KD875 ¢ 643 ¢ 10732 + K965 ¢+ D107 ¢ EKn5 ¢+5 ¢+ ED103
#KKn86532 &E #KDKn102 #E9743 #K853 #E92 D2 #E974
4 E54 « EKD1095 & DKn 4972
v K98764 vKD9 v K1085 v8
+ EKn10 + EKn ¢ K92 ¢ K42
+10 #65 #DKn107 #KKn10653
Par  Kontr Res Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
11 8 54DV -3 800 0|12 4 4v N+1 450 10.0 0011 8 INS+1 120 100 00| 1 7 3v V= -140 10.0
6 2 54DV-2 500 80 20[|10 9 44 S= 420 70 30| 1 7 INS= 90 50 50| 3 5 4v V= -620 8.0
12 4 54DV -1 200 6.0 40|11 8 4v N= 420 70 30| 3 5 INN= 90 50 50| 6 2 4vV+2 -680 3.0
3 5 5#V-1 100 40 60| 1 7 6#DV-2 300 40 60| 6 2 INS= 90 50 50|10 9 4vV+2 -680 3.0
1 7 5vN-2 -200 20 80| 6 2 54DO-1 100 20 80|12 4 INS= 90 50 50|11 8 4vV+2 -680 3.0
10 9 44 O+1 -650 00 100| 3 5 54DN-1 -100 0.0 10.0{10 9 INS-1 -100 0.0 10.0(12 4 4vV+2 -680 3.0
17 «E10 18 a K4 19 « ED853 20 » EKKn7
Nord v Kn10952 Ost v EKn106 Syd v Kn7 Vast v 9643
Ingen +53 NS + E10765 ov + EKKn Alla + K543
#D1084 »54 #Kn95 *2
4 KD9753 462 41052 4 DKn6 4 Knlo0 4762 4 D5 41032
v76 v 843 vD952 ¢87 v106432 vEK95 vEDKn  vK1072
¢ 1087 ¢+ KD92 4932 ¢ DKn84 + D63 +98 +Kn1098 ¢ E
&E2 #KKn93 #963 #Kn872 *E84 #KD103 #DKn74 #K10963
&« Kng4 « E9873 « K94 #9864
v EKD v K43 vD8 v 85
+ EKn64 + K + 107542 ¢+ D762
#765 #EKD10 »762 #E85
Par  Kontr Res Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
1 9 3vN-1 -50 6.0 4 6 6NN= 1440 80 20|12 5 14 S+2 140 100 00| 1 9 2NV-2 200 10.0
2 8 4vy N-1 -50 6.0 7 3 6NN= 1440 8.0 20|11 10 INN+1 120 80 20| 4 6 3NV-1 100 8.0
4 6 4v N-1 -50 6.0 11 10 6NN= 1440 80 20| 4 6 1a N+1 110 60 40| 2 8 3#0+1 -130 5.0
11 10 3v N-1 -50 6.0 1 9 3NN+3 690 30 70| 2 8 1aN= 80 40 6.0|11 10 3#V+1 -130 5.0
12 5 3v N-1 -50 6.0 2 8 3NS+3 690 30 70| 7 3 34 N-2 -100 2.0 80|12 5 INV+2 -150 2.0
7 3 4v N-2 -100 0.0 12 5 3NN+2 660 0.0100| 1 9 INN-3 -150 0.0 100| 7 3 4DV= -710 0.0
21 & EKn 22 # EKn763 23 & K93 24 a74
Nord v KD532 Ost vKD104 Syd v6 Vast v Kn1043
NS 41043 ov +98 Alla + KD10543 Ingen + ED10976
#E105 *K9 #1063 &E
« KD2 410974 « D98 4105 « ED6 752 4 KKn62 493
vKn976 v84 v63 v 952 vDKn3 1098754 v7 v EK982
¢ K75 + E86 ¢ Kn10654 ¢ ED73 462 ¢ Kn ¢ KKn852 ¢ -
D98 #7432 »732 #DKn105 #KD542 #EKn9 D95 #Kn108763
#8653 & K42 4« Kn1084 « ED1085
vE10 v EKn87 v EK2 v D65
+ DKn92 * K2 + E987 443
#KKn6 #E864 87 K42
Par  Kontr Res Par  Kontr Res Poéang Par  Kontr Res Poéang Par  Kontr Res Poéang
3 9 3NN+1 630 .0| 210 4v S+2 480 70 30| 2 3¢ N+1 130 10.0 00| 3 9 2¢ N= 90 9.0 1.0
111 3NN= 600 80 20| 3 9 4y S+2 480 70 30| 5 4v O-1 100 70 30|12 6 2¢ N= 90 9.0 1.0
5 7 INN+3 180 6.0 40| 5 7 4v N+2 480 7.0 3.0|12 3v O-1 100 70 30| 8 4 3¢ N-1 -50 6.0 4.0
12 6 INN+2 150 40 6.0 8 4 4v S+2 480 70 30| 3 5¢ S-1 -100 3.0 7.0| 111 3#40+= -110 4.0 6.0
8 4 INN+1 120 20 80| 111 4v N+1 450 1.0 90| 8 5¢ S-1 -100 3.0 70| 5 7 3NN-4 -200 2.0 8.0
210 4v N-2 -200 0.0 10.0|12 6 4v S+1 450 10 9.0( 1 5¢DS-1 -200 0.0 100 2 10 44DS-3 -500 0.0 10.0
25 & K93 26 10974 27 & K54 28 & Kn95
Nord v EKD8754 Ost v 105 Syd v6 Vast v D10432
oV + Kn86 Alla + 10965 Ingen + EKn763 NS +E8
»- #982 #EKN76 »1074
& Kn6 « ED874 4 E63 & KKn82 4Kn76 4D93 « D83 « K104
vKnl06 v9 v DKn2 vE976 vKn92 v EKD43 vK987 vEKn6
+ EK3 4954 ¢ EKKn83 ¢ 74 ¢ K1085 ¢ D9 ¢+ 76 ¢ 10954
#Kn6532 #EKD7 73 *E64 #D105 #K82 #Kn982 #KD5
#1052 & D5 « E£1082 « E762
v32 v K843 v 10875 v5
+ D1072 +D2 *42 + KDKn32
#10984 #KDKn105 #943 #E63
Par  Kontr Res Par  Kontr Res  Poéang Par  Kontr Res  Poéang Par  Kontr Res  Poéang
9 5 3NV-3 300 410 3NO-2 200 90 10| 6 3v0-1 50 100 00| 311 2vV-2 100 10.0
311 3v N= 140 6 8 3NO-2 200 9.0 10| 2 2v 0= -110 70 30| 2 1 2vV= -110 8.0
410 3vy N= 140 311 3NO-1 100 50 50| 4 2v 0= -110 70 30| 6 8 INDV= -180 4.0
2 1 540-1 100 12 7 5¢ O-1 100 50 50| 3 2»O+1 -140 3.0 70(9 5 INDO= -180 4.0
12 7 4¢vDN-1 -100 9 5 4v 0= 620 2.0 80| 9 3v 0= -140 3.0 7.0(12 7 INDO= -180 4.0
6 8 5#V= -600 2 1 3NV+1 -630 0.0 10.0|12 INO+2 -150 0.0 10.0| 4 10 3NS-2 -200 0.0
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29 & K1072 30 K10 31 7642 32 » 96
Nord v 865 Ost v D10952 Syd v E864 Vast v 8752
Alla + D52 Ingen + Kn1053 NS + E43 ov + ED1098
#Kn85 *K5 &E2 94
«Kn854 #4E3 473 « ED9842 « ED10 4« Kn95 « EK43 4 Kn52
vKn92 vE73 vEKKn7 v6 vKD10532 w7 vE64 vK10
¢ E9764 ¢ KKn83 + K74 ¢ 62 ¢ DKn2 4 108765 ¢743  #Kn65
&4 #EKD6 #9863  #E1072 *3 #DKn109 #KD6 #EKn1073
« D96 & Kn65 4 K83 « D1087
vKD104 v 843 vKn9 v DKn93
+10 + ED98 + K9 ¢+ K2
#109732 #DKn4 #K87654 #3852
Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
3 2 6¢6V-1 100 100 00| 511 24 O+1 -140 100 00| 511 2v O-2 100 90 10| 4 1 3NV-1 100 8.0 20
12 8 INO+4 -210 80 20|7 9 340+1 -170 6.0 4.0|12 8 2v V-2 100 90 10| 511 3NV-1 100 8.0 20
511 3NO+1 -630 6.0 40(10 6 3« O+1 -170 60 40| 3 2 1lv V-1 50 50 50|12 8 3NV-1 100 8.0 20
10 6 BNO+2 -660 4.0 6.0|12 8 34 O+1 -170 6.0 40| 7 9 2v0O-1 50 50 50(10 6 3NV= -600 4.0 6.0
4 1 3NO+3 -690 10 90| 3 2 3NV+1l -430 10 90|4 1 2vV= -110 1.0 90| 3 2 3NO+1 -630 10 9.0
7 9 3NO+3 690 10 90| 4 1 3NV+1l -430 10 9010 6 2¢ O+1 -110 10 90| 7 9 3NV+1l -630 1.0 9.0
33 » 109864 34 » EKKn 35 » 864 36 s E4
Nord v D953 Ost vKD Syd v K10954 Vast vKD74
Ingen + 8762 NS + Kn10872 ov 7 Alla + D8653
»- #ED7 #DKn83 *64
« EK2 475 4108543 4 D762 a72 # EK5 4 K10872 « DKn95
v1087 vKKn4 vyKn876 94 vED862 ¢3 v5 v EKn109
4953 ¢ DKn10 +D ¢ E943 ¢+ Kn109 ¢ EKD6532 + EKn7 + K4
#Kn432 #EK975 #KKn9 #1032 *EK4 #96 #EKKNn2 #D97
& DKn3 49 « DKn1093 463
vE62 v E10532 v Kn7 v 8632
+ EK4 + K65 +84 ¢ 1092
#D1086 #8654 #10752 #10853
Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang Par  Kontr Res Poang
5 2 24 N= 110 90 10| 5 2 44DO-4800 100 00| 4 3 664 O+1 -1390 100 00| 4 3 74DV-1 200 10.0 0.0
12 9 24 N= 110 9.0 10| 810 3NN+1 630 80 20| 810 6NO= -1440 80 20|5 2 440+2 -680 50 5.0
4 3 3#DO-1 100 6.0 40|12 9 4v N= 620 60 40| 5 2 6NO+1 -1470 60 40| 6 1 54V+l -680 50 5.0
810 34 N-1 50 40 6.0/ 4 3 3NN= 600 30 70| 6 1 7¢ O= -2140 20 8.0| 810 44 V+2 -680 50 5.0
11 7 2vDN-1 -100 20 8.0|11 7 3NN= 600 30 70|11 7 7¢ O= -2140 20 8.0(12 9 4e4V+2 -680 5.0 5.0
6 1 3¢aDN-2 -300 0.0100| 6 1 3NS-2 -200 0.0 10012 9 7¢ V= -2140 20 80|11 7 64 V= -1430 0.0 10.0
37 & 542 38 # 1098653 39 & D2 40 s E
Nord vE53 Ost v 109 Syd v DKn8543 Vast v 107643
NS + EKn3 ov +43 Alla 4103 Ingen + E764
#E975 #Kn94 *742 #652
4« EKn863 4 K107 & KDKn7 « E42 « EK1063 4854 a4 Kn72 4 K10983
vKD72 v 384 vE6 v 8542 v7 v EK1092 vED98 vKn5
+ D8 ¢ K652 ¢ EKKn986 ¢ D105 ¢E9876 +54 410932 ¢ K85
&Kn4 #KD63 *2 #875 &K8 #1093 294 #EKKn
« D9 .- & Kn97 « D654
v Kn1096 v KDKn73 v6 v K2
+ 10974 *72 + KDKn2 4 DKn
#1082 #EKD1063 #EDKNG5 #D10873
Par  Kontr Res Poéang Par  Kontr Res Poéang Par  Kontr Res Poéang Par  Kontr Res Poéang
1 8 34V= -140 7.0 30| 911 44DO-3 800 100 00| 1 8 4e4V-1 100 100 00| 1 8 24 0= -110 10.0 0.0
6 3 3&4V= -140 70 30| 6 3 4vS= 420 80 20| 7 2 3#N-1 -100 80 20|5 4 INO+1 -120 7.0 3.0
911 24 O+1 -140 7.0 305 4 5#N-1 50 6.0 40| 5 4 340= -140 6.0 4.0(12 10 INO+1 -120 7.0 3.0
12 10 24 O+1 -140 7.0 3.0(12 10 3¢ V+1 -130 4.0 6.0|12 10 3« S-3 -300 40 60| 7 2 24 O+2 -170 4.0 6.0
7 2 34V+1l -170 2.0 80| 1 8 4¢V+l -150 2.0 80| 911 4e V= 620 20 80| 6 3 INV+3 -180 10 9.0
5 4 44 O= -420 0.0100| 7 2 5¢DV= -750 00 100| 6 3 44#DS-3 -800 0.0100| 911 INO+3 -180 1.0 9.0
41 &« Kn8 42 » 862 43 « D984 44 &« EKKNn62
Nord vE4 Ost vD1087 Syd v K65 Vast v KKn95
oV + EKDKNn97 Alla + K1075 Ingen + EK64 NS ¢ Kn72
&E52 +K10 &K5 #Kn
a2 4 K107 4E104 #Kn973 aKn52 &ET73 1084 475
vKn10873 vKD52 vE964 vKKn5 v972 v 83 vD v 107642
¢ 653 ¢ 842 463 ¢ E842 +Kn83 ¢ D107 49863 ¢+ KD104
£K1084 #Kn93 #9732 #54 #D1062 #Kn9873 #D10865 #97
» ED96543 » KD5 & K106 « D93
v 96 v32 v EDKn104 v E83
+10 + DKn9 4 952 +E5
»D76 #EDKnN86 &E4 #EK432
Kontr Res  Poang Par  Kontr Res Par  Kontr Res  Poéang Kontr Res
6 5 6NN+1 1020 10.0 0.0|12 11 2# V-3 300 12 11 6NN= 990 100 0.0| 2 9 64 N= 1430 8.0
8 3 64 S+1 1010 80 20| 8 3 INS+1 120 .0 2 9 3NS+3 490 6.0 40| 6 5 64 N= 1430 8.0
7 4 64 S= 980 60 40| 6 5 INS= 90 .0 6 5 3NN+3 490 6.0 40| 8 3 64 N= 1430 8.0
10 1 44 S+2 480 40 6.0| 7 4 INS= 90 .0 10 1 3NS+3 490 6.0 40|10 1 44 N+1 650 3.0
12 11 44 S+1 450 20 80| 2 9 INS-1 -100 .0 8 3 4v S+1 450 20 80112 11 44 N+1 650 3.0
2 9 64S-1 -50 0.0 10010 1 2NS-2 -200 .0 7 4 6vS-2 -100 0.0 10.0| 7 4 64 N-1 -100 0.0
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